Aly|(t t)

1 do
o dAly|(tt)

aalyin [PP]

2.6, 14]

[—1.4,—0.9]

[—0.9, —0.4]
[—0.4, 0]

[0,0.4]

0.4,0.9]
0.9,1.4]
[1.4,2.6]

(2.821 £ 0.054 + 0.148) x10~~2

0.179 £ 0.002 + 0.007
0.345 £ 0.003 £ 0.008
0.5+ 0.004 + 0.014
0.507 £ 0.005 £ 0.011
0.349 + 0.003 = 0.011
0.183 £ 0.002 £ 0.005

(2.931 £ 0.052 + 0.209) x10~2

0.319 £ 0.006 + 0.027
2.021 £+ 0.022 £ 0.153
3.903 £ 0.036 £ 0.271
5.655 £ 0.052 + 0.355
5.731 £ 0.054 £ 0.347
3.949 + 0.037 + 0.282
2.072 £ 0.022 £ 0.148
0.331 £ 0.006 == 0.03



